Science 9
Practice Test - Chemistry Unit - Part 1

Name: Ke\{

1. a) What is the difference between an observation and an inference?
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b) Fill in the table below dealing with observations vs. inferences.
Image Observations JInferences

® Someane 1§ o[\aw&lkj eits a Sunny d‘j
A 74“—\« ..P‘e PWSQV\ 55‘" a -F(&*"A»‘e_

* JHeve is a SA‘JOUJ \/4\

< fon IS €
. o N per horghg
» Hhe pewvson IS WeAVINg P ide of ‘m‘(

Shovk
« 1+ is \A\‘V\/j * Here 1S a St
| ® one l{j”’,ﬁos* ov- hurvicane W"’“‘“ﬂ
o frees blawl":j AR . W\&slw- e .
4 UJ"+V ’DNS@V:" ‘h“\u S'\ﬂ-p.

2. a) What is the difference between qualitative and quantitative properties of matter?
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b) Decide if the following are qualitative or quantitative properties and then give the specific

property.

Example Maggie’s shirt is light green - qualitative — colour (property)

i) The peanuts were salty ﬂua [itzhivre & J‘;’c)
ii) The temperature of the day went down 5 degrees mﬁ%ﬂ éemlbew&‘/uu'&)

i) My dog is 65 cm long _@MM‘)LH’“-AW O_V\cj

iv) | hear the microwave popcorn pop Al/ﬁ:.;‘flre (Somﬂ()

v) The cutlery is shiny _g_ug Letve ”MS/Y&

vi) The package | want to mail for Easter is 70 ml ?‘W‘ﬁﬁfw ( \/Olum )

vii) The down jacket is soft gm//‘fm‘:‘vt




c) Choose as many qualitative and quantitative properties to describe each image.
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3. a) What is the difference between a physical and chemical change?
kns;‘cal change /s when
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b) Give three examples of a physical change. Swbsfomce s,
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c) What are 5 indicators that a chemical change has occurred?
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d) Give three examples of a chemical change. .
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4. Draw a scientific LINE graph from this data. Please put a title, label the axis, and caption.
Keep in mind units and scale.

: g:ysbemf ggsr;blzrﬂc}f;mr;i Title: phoes /omg does a bes of wini e4gs [ast T
( bag
0 200
1 176 ;
N
2 141 L aw ,¢\\=\ :
; 91 P TS *
eﬁﬁ N
4 34 N
‘FV”" 1%+ e e :
5 2 N
Fe " N
Caption: ~ B )
I+ agpecs Fhe F Fre % f' | . :
&j of mni eggs oaly © T N
¢ 1 2 3 4 5
[asts 5 daus. A @
S
[/}\ in 2E of o(a-jl) |, in #’01( poin 44 In !;ajj J
5. Choose ere-stthe-statterrs-fromot S : ,,_
( balloepn—viregaretasticamd-weights,TTicroscope - nymardnd make a good smentlflc
diagram. Include a title, drawing, Iabels and captton
Tl'H&' A moded of +Ac, éluhdolq mves/-(jr./'r‘m THC How will +he SWﬁ'-H. orek c‘ﬁQd’ Hhe vate of
voof d-«ssdw‘g
wt B C&e":ﬁﬁ L-Mw
L] o \ Rs s te carte
‘F;S"\th_s line jneveased , Hhe +AWW\0M¢"“"
PP 4[-‘,; yefe o which heaker
o fue hblet . ,
/\\ / dixie cvf Fon: dm.lml £% -r_“d.w mv"“’ﬁ
tepe Cop wensed. =2 este
belloon e -exflol/'”( haw i B P
Straw Hhe mass of Fhe - gradnaded eqlide
Cundela cffectd He : Q. Polidend +blels
< - abf ol
X op At 1+ fook o g0 z
poir¥ A fromn point A o point B, knife/sealpel
P [
6. Fill in the following table about the atom.
Sﬁbétomic'Pa'rticle ' Charge Symbol Location in Atom
Peston + P nuclems
( Newton 0 | n’ Nuclews
Electron — e Suaroumading
: _ nucleug




7. a) What are two important pieces of information the atomic number gives you?
| The efevnent Yow have o 3. The #of V{ﬁoﬁov\f)
A The # of profons .
b) How can you find the atomic mass? ‘#‘I/_) + #n'= aﬁmfc masys

¢) A neutral atom has no charge. What does this mean? f#:’/)* = #e

8. An element has an atomic mass of 24.30 and an atomic number of 12. Use your periodic table.

a) What elementam1? _/M “_3 nesium

b) What is the number of protons? ZQ
b

c) What is the number of electrons? [ A

d) What is the number of neutrons? [ A

9. Fill in the following table for the following atoms. You may use your periodic table AFTER you
have filled in the information for the atomic number, atomic mass, protons, neutrons, and electrons.

Element Atomic Atomic Protons Neutrons Electrons
Number Mass
Ox:gse»w 8 16 f 13 %
Votassinm /9 59 19 20 [ 7
Tvon Al 56 9{0 <0 26
Bromine 35 50 35 4 45 35

10.a) What is the purpose of the Bohr model?
)o mpregacf' wheve e Gre /ocaJ@{ Mww( ‘/ﬂe, V\uo/w!
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b) How do we fill the shells/orbits of a Bohr model?
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c) Describe how you would fl” shells of an atom with 13 electrons. Draw a diagram to help in

your explanation. I"'s‘\b“—> Pe”
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11.Pick an element from the periodic table (#1-20 only) and draw a Bohr model df an atom.
Remember to give it a title, labels, and caption.
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